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— + Aparadigm is
Da model for studying or representing reality
(2) a way of understanding
(3) established on the basis of ontology, epistemology and methodology.
(4) all of the above '
(5) both 1 and 2 above
= « The critical paradigm argues
(1) wide concern with inequality and sources of opposition in society
{2) aliberal-pluralist ideal of society .
(3) qualitative methodology
(4) all of the above
(5) both 1 and 3 above

== « Which of the following is the feature of the mass audience?
(1) large numbers
(2) homogeneous
(3) widely dispersed
(4) all of the above
(5) both } and 3 above

gq « Which of the following is the feature of mass culture?
(1) homogenized
(2) mass produced
(3) commercial
(4) all of the above
(5) both 2 and 3 above

F - The ritual model of communication implies
(1) instrumentality
(2) cause-and-effect relation 7
(3) the construction of a community through rituals, shared histories, beliefs and
values
(4) all of the above
{5)bothland3
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-+ + Which of the following is NOT the strength of uses and gratification theory?
(1) can easily address the presence or absence of effects
(2) focuses attention on individuals in the mass tommunication process
(3) respects intellect and ability of media consumers
(4) all of the above '
(5) both | and 3 above

4 + Feminist reception studies argue that

(1) the complex social act of using a medium is influenced by relations between
the sexes '

(2) gendered differences are associated with different preferences and
satifactions

(3) the range of meaning in media texis is acknowledged

(4) all of the above

(5) both 1 and 2 above

/A~ Which of the following is NOT the strength of political economy theory?
(1) provides focus on how media are structured and controlled
(2) has explanatory power at microscope level
(3) seeks link between media content production and media economics
{(4) all of the above
(5) both 2 and 3 above

.+ Which of the following is the kind of media-induced change?
(1) cause unintended change
(2) prevent change
(3) reinforce what exists
(4) All of the above
(%) both 1 and 3 above

-+~ Which of the following is regarded as long-ténn and unplanned media effect?
(1) news diffusion
(2) media campaign
(3) cultural change
(4) all of the above
(5) both 1 and 2 above
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» In terms of the theory of media imperialism, the effects of globalization include that

(1) global media promote economic growth rather than relations of dependency

(2) a state of cultural synchronization

(3) the imbalance in the flow of mass media content undermines cultural autonomy
(4) all of the above

(5) both 2 and 3

~ Which of the following is NOT the public interest requirement from mass media?

(1) concentrationt of ownership of media

(2) adequate support for the democratic political system
{3) extensive reach ’

(4) diversity of expression of opinion

(5) all of the above are all public interests of mass media

* Which of the following is the weakness of social responsibility theory?

(1) The theory is overly optimistic about individual responsibility
{2) It underestimates power of profit motivation and competition
(3) It legitimates status quo.

{4) all of above

(5) both 2 and 3 above
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10 - The results of gender stereotype studies imply
(1) a Marxist ferninist media theory
(2) conceptualization of the audience as an active one ‘
(3) underrepresentation of ‘women in the media

(4) all of the above
{5) both 2 and 3 above

11 » Which of the following helps to differentiate ‘new’ from ‘old media’?
(1) degree of interactivity
(2) degree of social presence experienced by the user
(3) degree of autonomy
(4) all of the above
(5) both 1 and 3 above

12 ~ Which of the following is NOT relevant to the cuiture industry theory?
(1) the commodification of culture
(2} has optimistic view of media influence and average people
(3) identifies problems created by repackaglng of cultural content
{4) all of the above
(5) both 2 and 3 above
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To QP or not to QP?

Confirmation that the media have a new defence in libel cases should be
cause for rejoicing. But it's not that simple, i

Last month's appeal court ruling in the continuing courtroom battle between a Russian
businessman and the Times reaffirned that the media have a so-called "qualified
privilege” (QP) defence to fibel claims when a story - even If it tums out to be untrue -is
in the public interest and the product of responsible journalism.

But a hot topic for the press, in particular, is when - and how - they should use the
defence. Is the best approach to devetop their own "best practice™ guidelines to prove
to courts they are acting responsibiy if they foliow them, or simply to fight each case on
a piecemeal basis? Will claiming the defence inevitably impexil confidential sources?

Although the ruling in Loutchansky v Times Newspapers was good news for the media,
it left the law as unclear as ever; what's particularly difficult to work out is when the
defence appiies in practice, and what the test of QP is.

This lack of clarity goes back to the first case to establish the availability of a QP
defence, when the former Irish Tagiseach Atbert Reynolds sued the Sunday Times in
1999, This importantly held that the media may have a defence to a defamation action
@ven where stories are wrong or unprovable, They just have to show that they actad
responsibly and in good faith.

Ironically, the paper failed to benefit from the new defence the case macie possibile -a
key source had an axe to grind and the Sunday Times had failed to verify the

information and to put Reynolds’ side of the story. And although the case was héiled as

a landmark for press freedom, the QP defence has rarely succeeded subsequentiy. The
big question is how “responsibie journalism" can ever withstand rigorous forensic

examination by claimants and judges in hostile courtrooms.
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4. An hour-long exam consists of two problems, each worth a maximum of 50
poinis. A student doesn’t have enough time to get full-credit on both questions.
How should this student allocate his or her time spent on each problem to
maximize the total score? Illustrate your answer using afigure. (1543
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5. A monopoly faces a demnand function of Q =200 — 2P. It has a cost function of
C(Q) =40Q+10. (154} '

(i) What is its profit at the profit-maximizing output?

(ii) Now compare the monopoly equilibrium to that which would be sold ifa
regulator forced the firm to set price equal to marginal cost (at the point where the
demand curve intersects the MC curve). What would be the outcome of such
regulation?

6. The world market for commercial aircraft is dominated by the two large
manufacturers, Airbus and Boeing. Suppose that the world (monthly) demand for
a standardized aircraft (e.g., a 767 type plane) is given by: P(Q) = 100 — Q, where
Q = g, + g s total production with g, and g, being Airbus (A) and Boeing (B)
production. Assume that each company has constant unit cost of production of 25
and that any fixed cost is entirely sunk. Throughout this problem, we assume that
the two aircraft manufacturers behave as Cournot duopolists. (20 53)

(i) Find the equilibrium Cournot quantities, market price and firm profits.

Suppose that, using the fact that it is a government consortium, Airbus appeals to
the Enropean Community (EC) to subsidize its production. Assume that it

succeeds in getting 2 subsidy of s per plane produced so that its unit cost becomes
25 ~s.

(i) Under the assumption that it will internalize any increase in Airbus® profits, write
down the expression for the net benefit of the subsidy scheme to the EC: increase
in Airbus’ profits less the amount of the subsidy.
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